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1. Calculate the amount on Rs 7,500 in 2 years

and at 6% compounded annually.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BJnuYcDt8kwy

° Watch Video Solution

2. Calculate the compound intersect on Rs

18,000 in 2 years at 15% per annum.

o Watch Video Solution

3. Calcualte the amount and the compound
intersect on Rs 12,000 in 3 years when the
rates of intersect for successive years are 8%,

10% and 15% respectively.

| e |


https://dl.doubtnut.com/l/_BJnuYcDt8kwy
https://dl.doubtnut.com/l/_oSKEmdmCqKJl
https://dl.doubtnut.com/l/_HTDSMYVpm2TJ

& Watch Video Solution I

4. What sum of money will amount to Rs
3,630/~ in 2 years at 10% per annum compound

intrest

° Watch Video Solution

5. On what sum of money will compound
intersect for 2 year at 5 percent per year

amount to Rs 64 ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_HTDSMYVpm2TJ
https://dl.doubtnut.com/l/_6AbGWpJ40Fm3
https://dl.doubtnut.com/l/_xJst5wcawBBx

6. At what rate percent per annum C.I will Rs

2,000 amount to Rs 2,315.25 in 3 years ?

° Watch Video Solution

7. A person invests Rs 10,000 for two years at a
certain rate of interest compounded annually.
At the end of one years this sum amounts to
Rs 11,200. Calcaulte.

the rate of interest per annum



https://dl.doubtnut.com/l/_xJst5wcawBBx
https://dl.doubtnut.com/l/_i9NvCr5fkmSK
https://dl.doubtnut.com/l/_VKsk73z9DKkF

Watch Video Solution

8. A person invests Rs 10,000 for two years at a
rate of 12% interset compounded annually. At
the end of one years this sum amounts to Rs
11,200. Calcaulte the amount at the end of the

second year.

° Watch Video Solution

9. In how many years will Rs 2,000 amount to

Rs. 2,662 at 10 percent p.a C.l ?


https://dl.doubtnut.com/l/_VKsk73z9DKkF
https://dl.doubtnut.com/l/_B3GLBgSvi3h3
https://dl.doubtnut.com/l/_5KNvV31frcZK

° Watch Video Solution

10. Rs 16,820 is divided between Govind and
Geeta, both aged 27 and 25 years respectively.
Their money is invested at 5% per annum
compound interst in such a way that both
receive equal to money at the age of 40 years.

Find the share of each out of Rs 16,820.

° Watch Video Solution



https://dl.doubtnut.com/l/_5KNvV31frcZK
https://dl.doubtnut.com/l/_ZRAxqMn9SigH

11. On what sum of money will the difference
between simple intersect and compound
intersect for 2 years at 5% per annum be equal

toRs 257

o Watch Video Solution

12. A certain sum of money at compound
interset amounts to Rs 6,600 in 1 year and to
Rs 7,986 in 3 years. Find the sum and the rate

percent.

| & I


https://dl.doubtnut.com/l/_IybvPu4kJ0rw
https://dl.doubtnut.com/l/_EEnenv4Ul635

| ¥ Watch Video Solution |

13. The difference between the C.I and the Sl
on Rs 8,400 for two years is Rs 21 at the same
rate of intersect per year. Find the rate of

interset.

o Watch Video Solution

14. Calculate the compound interest on Rs

1
4,000 in 15 years at 10 % per annum

compounded half-yearly.


https://dl.doubtnut.com/l/_EEnenv4Ul635
https://dl.doubtnut.com/l/_3COBnOvGLRka
https://dl.doubtnut.com/l/_sbtUTQFyIj16

° Watch Video Solution

15. Find the amount and the compound
: 1
interest on Rs10, 000 for (1) 5 Years at 10 %

per annum, compounded half yearly.

° Watch Video Solution

16. John borrowed Rs 20,000 for 4 years under
the following conditions :

10% simple interest for the first 25 years.


https://dl.doubtnut.com/l/_sbtUTQFyIj16
https://dl.doubtnut.com/l/_HmDIdlRTkkjj
https://dl.doubtnut.com/l/_956fGAsvQGWa

10% C.I. for the remaining one and a half years
on the amount due after 25 years, the
interest being compounded half-yearly.

Find the total amount to be paid at the end of

fourth year.

o Watch Video Solution

17. A sum of money is lent out at compound
intersect for two years at 20% per annum.
Compound intersect being reckoned yearly. If

the same sum of money was lent out at


https://dl.doubtnut.com/l/_956fGAsvQGWa
https://dl.doubtnut.com/l/_F8awEq2ROhIj

compound interest at the same rate percent
per annum, compound intersect being
reckoned healf-yealry, it would have fetched Rs
482 more by way of interest in two years.

Calcualte the sum of money lent out.

o Watch Video Solution

18. A sum of Rs 6,400 earns a compound
interest of Rs 1,008.80 in 18 months when the
interest is reckoned half-yearly. Find the rate

of interest.

| e |


https://dl.doubtnut.com/l/_F8awEq2ROhIj
https://dl.doubtnut.com/l/_e94SNlgHqIpt

& Wwatch Video Solution I

19. The simple interest on a sum of money for
2 years at 4% per annum is Rs 340. Find :

the sum of money and

° Watch Video Solution

20.The simple interest on a sum of money for
2 years at 4% per annum is Rs 340. Find :
the compound intersect on this sum for one

year payble half-hearly at the same rate.


https://dl.doubtnut.com/l/_e94SNlgHqIpt
https://dl.doubtnut.com/l/_v4gMVzEgB7UN
https://dl.doubtnut.com/l/_FgWmGVY5R4Bb

° Watch Video Solution

21. The total number of industries in a
particular portion of the country is
approximately 1,600. if the government has
decided to increases the number of industries
in the area by 20% year. Find the approximate

number of industries after 2 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_FgWmGVY5R4Bb
https://dl.doubtnut.com/l/_puQZ5xGOWYXU

22. The value of machine depreciates every
year at the rate of 20% of its value of the
beginnning of the year (i.e the raete of
depreciation is 20%). The machine eas
purchased for Rs. 2,50,000 when new, and the
srap value realised when sold was Rs 1,28,000.
Find the numer of years that the machine was

used.

o Watch Video Solution



https://dl.doubtnut.com/l/_fz1sL5LXX93X

23. The population of a town in China
increases by 20% every year If its present
population is 2,16,000 , find its population

after 2 years

o Watch Video Solution

24. The population of a town in China inreases
by 20% every year If its present popularion is
2,16,000, find:

its population 2 years ago.

| & I


https://dl.doubtnut.com/l/_J1rJBzPLOpmE
https://dl.doubtnut.com/l/_SKDqXTp07Pxp

| ¥ Watch Video Solution |

25. A sum of money lent out at C.I at a certain
r% (rate of growth) doubles itself in 5 years.
Find in how many years will the money
become eight times of itself at the same rate

of growth.

o Watch Video Solution

26. A man borrowed a sum of money and

agrees to pay it off by paying Rs 43,200 at the


https://dl.doubtnut.com/l/_SKDqXTp07Pxp
https://dl.doubtnut.com/l/_MdkpKaT0ztl7
https://dl.doubtnut.com/l/_4rAnoEGpAQLZ

end of the first year and Rs 34,992 at the end
of the second year. If the rate of compound
interest is 8% per annum, find the sum

borrowed.

° Watch Video Solution

27. Calculate the amount on Rs 7,500 in 2 years

and at 6% compounded annually.

o Watch Video Solution



https://dl.doubtnut.com/l/_4rAnoEGpAQLZ
https://dl.doubtnut.com/l/_WLjm1zQAYoHs

28. Calculate the compound intersect on Rs

18,000 in 2 years at 15% per annum.

° Watch Video Solution

29. Calcualte the amount and the compound
intersect on Rs 12,000 in 3 years when the
rates of intersect for successive years are 8%,

10% and 15% respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_FzR26f3hqUIZ
https://dl.doubtnut.com/l/_RbbGkNGKzYka
https://dl.doubtnut.com/l/_ORnBjVQfp3Hv

30. What sum of money will amount to Rs
3,630/~ in 2 years at 10% per annum compound

interest

o Watch Video Solution

31. On what sum of money will compound
intersect for 2 year at 5 percent per year

amount to Rs 64 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ORnBjVQfp3Hv
https://dl.doubtnut.com/l/_jacebuvboAMD
https://dl.doubtnut.com/l/_eP3CwAcyz1U2

32. At what rate percent per annum C.I will Rs

2,000 amount to Rs 2,315.25 in 3 years ?

o Watch Video Solution

33. A person invests Rs 10,000 for two years at
a certain rate of interest compounded
annually. At the end of one years this sum
amounts to Rs 11,200. Calcaulte.

the rate of interest per annum

o Watch Video Solution



https://dl.doubtnut.com/l/_eP3CwAcyz1U2
https://dl.doubtnut.com/l/_IbIcFYddjWKW
https://dl.doubtnut.com/l/_QQ5M7ew7leHx

34. A person invests Rs 10,000 for two years at
a certain rate of intersect compounded
annually. At the end of one years this sum
amounts to Rs 11,200. Calcaulte.

the amount at the end fo the second year.

° Watch Video Solution

35.In how many years will Rs 2,000 amount to

Rs. 2,662 at 10 percent C.I ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QQ5M7ew7leHx
https://dl.doubtnut.com/l/_eR0x4Xgn299S

36. Rs 16,820 is divided between Govind and
Geeta, both aged 27 and 25 years respectively.
Their money is invested at 5% per annum
compound interst in such a way that both
receive equal to money at the age of 40 years.

Find the share of each out of Rs 16,820.

o Watch Video Solution

37. On what sum of money will the difference

between simple intersect and compound


https://dl.doubtnut.com/l/_eWQ4eijw1Eqi
https://dl.doubtnut.com/l/_fV2Qgb637gm1

intersect for 2 years at 5% per annum be equal

toRs 257

° Watch Video Solution

38. A certain sum of money at compound
interset amounts to Rs 6,600 in 1 year and to
Rs 7,986 in 3 years. Find the sum and the rate

percent.

o Watch Video Solution



https://dl.doubtnut.com/l/_fV2Qgb637gm1
https://dl.doubtnut.com/l/_aSItMVmfDEN9

39. The difference between the C.I and the Sl
on Rs 8,400 for two years is Rs 21 at the same
rate of intersect per year. Find the rate of

interset.

° Watch Video Solution

40. Calculate the compound interest on Rs

1
4,000 in 15 years at 10 % per annum

compounded half-yearly.

° Watch Video Solution



https://dl.doubtnut.com/l/_YPpbnukATW3k
https://dl.doubtnut.com/l/_2QE6Mv2tSyQq

41. Find the amount when Rs 10,000 is

invested for 25 years at 10% intersect

compounded yearly.

o Watch Video Solution

42. John borrowed Rs 20,000 for 4 years under
the following conditions :
: : 1
10% simple interest for the first 25 years.
10% C.I. for the remaining one and a half years

1
on the amount due after 25 years, the


https://dl.doubtnut.com/l/_2QE6Mv2tSyQq
https://dl.doubtnut.com/l/_LSxVjDgXafYJ
https://dl.doubtnut.com/l/_IN4seqfGhBfQ

interest being compounded half-yearly.
Find the total amount to be paid at the end of

fourth year.

o Watch Video Solution

43. A sum of money is lent out at compound
intersect for two years at 20% per annum.
Compound intersect being reckoned yearly. If
the same sum of money was lent out at
compound interest at the same rate percent

per annum, compound intersect being


https://dl.doubtnut.com/l/_IN4seqfGhBfQ
https://dl.doubtnut.com/l/_3WVlGWSEg5tQ

reckoned healf-yealry, it would have fetched Rs
482 more by way of interest in two years.

Calcualte the sum of money lent out.

o Watch Video Solution

44, A sum of Rs 6,400 earsn a compound
intersec of Rs 1,008.80 in 18 months when the

interset is reckoned half-yearly. Find the reate

of intersect.

° Watch Video Solution



https://dl.doubtnut.com/l/_3WVlGWSEg5tQ
https://dl.doubtnut.com/l/_JnsR9Mj5ZLjx
https://dl.doubtnut.com/l/_8Uu9bdXx6Zjt

45.The simple interest on a sum of money for
2 years at 4% per annum is Rs 340. Find :

the sum of money and

° Watch Video Solution

46. The simple interest on a sum of money for
2 years at 4% per annum is Rs 340. Find :
the compound intersect on this sum for one

year payble half-hearly at the same rate.

o Watch Video Solution



https://dl.doubtnut.com/l/_8Uu9bdXx6Zjt
https://dl.doubtnut.com/l/_AA4zxPfXFRpP

47. The total number of industries in a
particular portion of the country is
approximately 1,600. if the government has
decided to increases the number of industries
in the area by 20% vyear. Find the approximate

number of industries after 2 years.

o Watch Video Solution

48. The value of machine depreciates every

year at the rate of 20% of its value of the


https://dl.doubtnut.com/l/_ODym6o7MNGsk
https://dl.doubtnut.com/l/_bqdOMbyXAQTc

beginnning of the year (i.e the raete of
depreciation is 20%). The machine eas
purchased for Rs. 2,50,000 when new, and the
srap value realised when sold was Rs 1,28,000.
Find the numer of years that the machine was

used.

o Watch Video Solution

49. The population of a town in China inreases

by 20% every year If its present popularion is


https://dl.doubtnut.com/l/_bqdOMbyXAQTc
https://dl.doubtnut.com/l/_rIMnIi8XDEvR

2,16,000, find:

its population after 2 years,

° Watch Video Solution

50. The population of a town in China inreases
by 20% every year If its present popularion is
2,16,000 , find:

its population 2 years ago.

o Watch Video Solution



https://dl.doubtnut.com/l/_rIMnIi8XDEvR
https://dl.doubtnut.com/l/_Nixzdw0KdY3D

51. A sum of money lent out at C.l at a certain
r% (rate of growth) doubles itself in 5 years.
Find in how many years will the money
become eight times of itself at the same rate

of growth.

o Watch Video Solution

52. A man borrowed a sum of money and
agrees to pay it off by paying Rs 43,200 at the

end of the first year and Rs 34,992 at the end


https://dl.doubtnut.com/l/_QfPqr7E57Fc0
https://dl.doubtnut.com/l/_36h80OWHMfsL

of the secon years. If the rae of compound
interesct is 8% per annum, find the sum

borrowed.

o Watch Video Solution

1. Find the amount and the compound interest
on Rs 12,000 in 3 years at 5%, interest being

compounded annually.

o Watch Video Solution



https://dl.doubtnut.com/l/_36h80OWHMfsL
https://dl.doubtnut.com/l/_xDCG0g7qAbOw

2. Calculate the amount, if Rs 15,000 is lent at
compound interest for 2 years and the rates
for the successive years are 8% p.a. and 10%

p.a. respectively.

o Watch Video Solution

3. Calculate the compound interest accrued on
Rs 6,000 in 3 years, compounded yearly, if the
rates for the successive years are 5%, 8% and

10% respectively.


https://dl.doubtnut.com/l/_xDCG0g7qAbOw
https://dl.doubtnut.com/l/_R3iwBxSIaPVc
https://dl.doubtnut.com/l/_R4jZWEk46plu

° Watch Video Solution

4. What sum of money will amount to Rs 5,445
in 2 years at 10% per annum compound

interest?

° Watch Video Solution

5. On what sum of money will the compound
interest for 2 years at 5 per cent per annum

amount to Rs 768*75 ?

| e |


https://dl.doubtnut.com/l/_R4jZWEk46plu
https://dl.doubtnut.com/l/_RS3OWfZL6Qa5
https://dl.doubtnut.com/l/_w22MT9EBzov5

& Wwatch Video Solution I

6. Find the sum on which the compound
interest for 3 years at 10% per annum

amounts to Rs 1,655

° Watch Video Solution

7. What principal will amount to Rs 9,856 in
two vyears, if the rates of interest for

successive years are 10% and 12% respectively

?


https://dl.doubtnut.com/l/_w22MT9EBzov5
https://dl.doubtnut.com/l/_yOJEJU3ICbjl
https://dl.doubtnut.com/l/_CZ51vVipZZJJ

° Watch Video Solution

8.0n a certain sum, the compound interest in
2 years amounts to Rs 4,240. If the rates of
interest for successive years are 10% and 15%

respectively, find the sum.

o Watch Video Solution

9. At what rate per cent per annum will Rs

6,000 amount to Rs 6,615 in 2 years when


https://dl.doubtnut.com/l/_CZ51vVipZZJJ
https://dl.doubtnut.com/l/_kZR0zyuLOJSd
https://dl.doubtnut.com/l/_AXTbNuN7qPTy

interest is compounded annually ?

o Watch Video Solution

10. At what rate per cent compound interest,
does a sum of money become 144 times of

itself in 2 years ?

o Watch Video Solution

11. At what rate per cent will a sum of Rs 4,000

yield 1,324 as compound interest in 3 years?


https://dl.doubtnut.com/l/_AXTbNuN7qPTy
https://dl.doubtnut.com/l/_JpuJVRL5Qs0I
https://dl.doubtnut.com/l/_6HXR5Kv8hCIC

° Watch Video Solution

12. A person invests Rs 5,000 for three years at
a certain rate of interest compounded
annually. At the end of two years this sum
amounts to Rs 6,272. Calculate the rate of

interest per annum.

° Watch Video Solution



https://dl.doubtnut.com/l/_6HXR5Kv8hCIC
https://dl.doubtnut.com/l/_ayc9PYutZlud

13. A person invests 5,000 for three years at a
certain rate of interest compounded annually.
At the end of two years this sum amounts to
Rs 6,272. Calculate :

the amount at the end of the third year.

o Watch Video Solution

14.In how many years will Rs 7,000 amount to
Rs 9,317 at 10 per cent per annum compound

interest?

| & I


https://dl.doubtnut.com/l/_BNtaLBg1IQFE
https://dl.doubtnut.com/l/_zId6ohq4rAKa

| ¥ Watch Video Solution |

15. Find the time, in years, in which Rs 4,000
will produce Rs 630.50 as compound interest
at 5 percent p.a. interest being compounded

annually.

o Watch Video Solution

16. Divide 28,730 between A and B so that
when their shares are lent out at 10 per cent

compound interest compounded per year, the


https://dl.doubtnut.com/l/_zId6ohq4rAKa
https://dl.doubtnut.com/l/_lJs5x9G09B70
https://dl.doubtnut.com/l/_0KmYmcMR1sPK

amount that A receives in 3 years is the same

as what B receives in 5 years.

° Watch Video Solution

17. A sum of Rs 44,200 is divided between John
and Smith, 12 years and 14 years old
respectively, in such a way that if their
portions be invested at 10 percent per annum
compound interest, they will receive equal
amounts on reaching 16 years of age.

What will each receive, when 16 years old ?

| e |


https://dl.doubtnut.com/l/_0KmYmcMR1sPK
https://dl.doubtnut.com/l/_YiwLdA7dxbld

& Wwatch Video Solution I

18. A sum of Rs 44,200 is divided between John
and Smith, 12 years and 14 years old
respectively, in such a way that if their
portions be invested at 10 percent per annum
compound interest, they will receive equal
amounts on reaching 16 years of age. What

will each receive, when 16 years old ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YiwLdA7dxbld
https://dl.doubtnut.com/l/_3FdgXfmf3Wj9

19. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.

Find the sum

o Watch Video Solution

20. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.
Find the amount due at the end of 3 years and
at the same rate of interest compounded

annually.

| & I


https://dl.doubtnut.com/l/_vlNRoRHorFoH
https://dl.doubtnut.com/l/_Opy6HjZIOjwt

| ¥ Watch Video Solution |

21. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.

Find the compound interest earned in 3 years.

o Watch Video Solution

22. Find the difference between compound
interest and simple interest on Rs 8,000 in 2

years and at 5% per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_Opy6HjZIOjwt
https://dl.doubtnut.com/l/_eNPrx5V8EryG
https://dl.doubtnut.com/l/_iayk4G1oLSUU

23. Find the amount and the compound
interest on Rs 12,000 in 3 years at 5%, interest

being compounded annually.

o Watch Video Solution

24. Calculate the amount, if Rs 15,000 is lent at
compound interest for 2 years and the rates
for the successive years are 8% p.a. and 10%

p.a. respectively.

| = 1


https://dl.doubtnut.com/l/_iayk4G1oLSUU
https://dl.doubtnut.com/l/_m48lnjaj6rgB
https://dl.doubtnut.com/l/_CAhQCuXqxFEp

I &9 Watch Video Solution I

25. Calculate the compound interest accrued
on Rs 6,000 in 3 years, compounded yearly, if
the rates for the successive years are 5%, 8%

and 10% respectively.

o Watch Video Solution

26. What sum of money will amount to Rs
5445 in 2 years at 10% per annum compound

interest?


https://dl.doubtnut.com/l/_CAhQCuXqxFEp
https://dl.doubtnut.com/l/_Clfp81MN19XU
https://dl.doubtnut.com/l/_sT91M2f117mE

° Watch Video Solution

27. On what sum of money will the compound
interest for 2 years at 5 per cent per annum

amount to Rs 768.75 ?

° Watch Video Solution

28. Find the sum on which the compound
interest for 3 years at 10% per annum

amounts to Rs 1,655

| |


https://dl.doubtnut.com/l/_sT91M2f117mE
https://dl.doubtnut.com/l/_wbvinxKXWxpv
https://dl.doubtnut.com/l/_jAVyvyMM6sQs

& Wwatch Video Solution I

29. What principal will amount to Rs 9,856 in
two vyears, if the rates of interest for

successive years are 10% and 12% respectively

?

o Watch Video Solution

30. On a certain sum, the compound interest

in 2 years amounts to Rs 4,240. If the rates of


https://dl.doubtnut.com/l/_jAVyvyMM6sQs
https://dl.doubtnut.com/l/_Q8A2BOpBEqJi
https://dl.doubtnut.com/l/_94TRA5tFpDC6

interest for successive years are 10% and 15%

respectively, find the sum.

° Watch Video Solution

31. At what rate per cent per annum will Rs
6,000 amount to Rs 6,615 in 2 years when

interest is compounded annually ?

° Watch Video Solution



https://dl.doubtnut.com/l/_94TRA5tFpDC6
https://dl.doubtnut.com/l/_Ns9GWfUeJEvP

32. At what rate per cent compound interest,
does a sum of money become 144 times of

itself in 2 years ?

o Watch Video Solution

33. At what rate per cent will a sum of Rs 4,000

yield 1,324 as compound interest in 3 years?

° Watch Video Solution



https://dl.doubtnut.com/l/_PogqKeYgAXTL
https://dl.doubtnut.com/l/_OnIzynlPpaKt

34. A person invests 5,000 for three years at a
certain rate of interest compounded annually.
At the end of two years this sum amounts to
Rs 6,272. Calculate :

the rate of interest per annum.

o Watch Video Solution

35. A person invests 5,000 for three years at a
certain rate of interest compounded annually.

At the end of two years this sum amounts to


https://dl.doubtnut.com/l/_CBu5cYk3rUyk
https://dl.doubtnut.com/l/_Rsca8LOHjeoV

Rs 6,272. Calculate :

the amount at the end of the third year.

° Watch Video Solution

36.In how many years will Rs 7,000 amount to
Rs 9,317 at 10 per cent per annum compound

interest?

° Watch Video Solution



https://dl.doubtnut.com/l/_Rsca8LOHjeoV
https://dl.doubtnut.com/l/_3a7qescy8BBa

37. Find the time, in years, in which Rs 4,000
will produce Rs 630.50 as compound interest
at 5 percent p.a. interest being compounded

annually.

o Watch Video Solution

38. Divide 28,730 between A and B so that
when their shares are lent out at 10 per cent

compound interest compounded per year, the


https://dl.doubtnut.com/l/_Y3x0UZc6YY0T
https://dl.doubtnut.com/l/_apq52NpfxnUT

amount that A receives in 3 years is the same

as what B receives in 5 years.

° Watch Video Solution

39. A sum of Rs 44,200 is divided between John
and Smith, 12 years and 14 years old
respectively, in such a way that if their
portions be invested at 10 percent per annum
compound interest, they will receive equal
amounts on reaching 16 years of age.

What will each receive, when 16 years old ?

| e |


https://dl.doubtnut.com/l/_apq52NpfxnUT
https://dl.doubtnut.com/l/_OLel3Iid5p8l

& Watch Video Solution I

40. A sum of Rs 44,200 is divided between
John and Smith, 12 years and 14 years old
respectively, in such a way that if their
portions be invested at 10 percent per annum
compound interest, they will receive equal
amounts on reaching 16 years of age.

What will each receive, when 16 years old ?

° Watch Video Solution



https://dl.doubtnut.com/l/_OLel3Iid5p8l
https://dl.doubtnut.com/l/_CZ4viG8jnKp1

41. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.
Find :

the compound interest earned in 3 years.

o Watch Video Solution

42. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.

Find the amount due at the end of 3 years and


https://dl.doubtnut.com/l/_cge7yyvpThwn
https://dl.doubtnut.com/l/_QPavCkVQTAo5

at the same rate of interest compounded

annually.

° Watch Video Solution

43. The simple interest on a certain sum of
money at 10% per annum is 6,000 in 2 years.
Find :

the compound interest earned in 3 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_QPavCkVQTAo5
https://dl.doubtnut.com/l/_AxuCaDDSA79Q

44. Find the difference between compound
interest and simple interest on Rs 8,000 in 2

years and at 5% per annum.

o Watch Video Solution

1. The difference between simple interest and

compound interest on a certain sum is Rs


https://dl.doubtnut.com/l/_bDyLfU7FKKXw
https://dl.doubtnut.com/l/_yqlx5Bb0328S

54.40 for 2 years at 8 percent per annum. Find

the sum.

° Watch Video Solution

2. A sum of money, invested at compound
interest, amounts to Rs 19,360 in 2 years and
to Rs 23,425.60 in 4 years. Find the rate

percent and the original sum of money.

o Watch Video Solution



https://dl.doubtnut.com/l/_yqlx5Bb0328S
https://dl.doubtnut.com/l/_YmHicnGWCIkW

3. A sum of money lent out at C.l. at a certain
rate per annum becomes three times of itself
in 8 years. Find in how many years will the
money become twenty-seven times of itself at

the same rate of interest p.a.

o Watch Video Solution

4. On what sum of money will compound
interest (payable annually) for 2 years be the

same as simple interest on Rs 9,430 for 10


https://dl.doubtnut.com/l/_2cXk6O7e3JFB
https://dl.doubtnut.com/l/_m5QxpVcQP1Mm

years, both at the rate of 5 percent per annum

?

o Watch Video Solution

5. Kamal and Anand each lent the same sum of
money for 2 years at 5% at simple interest and
compound interest respectively. Anand
received Rs 15 more than Kamal. Find the

amount of money lent by each .

o Watch Video Solution



https://dl.doubtnut.com/l/_m5QxpVcQP1Mm
https://dl.doubtnut.com/l/_RZ0dx1ps7WnE
https://dl.doubtnut.com/l/_54bIc3Yg6FwH

6. Simple interest on a sum of money for 2
years at 4% is Rs 450. Find compound interest

on the same sum and at the same rate for 2

years.

o Watch Video Solution

7. Simple interest on a certain sum of money
for 4 years at 4% per annum exceeds the
compound interest on the same sum for 3
years at 5 percent per annum by Rs 228. Find

the sum.


https://dl.doubtnut.com/l/_54bIc3Yg6FwH
https://dl.doubtnut.com/l/_PWaedrUEwUsG

o Watch Video Solution

8. Compound interest on a certain sum of
money at 5% per annum for two years is Rs
246. Calculate simple interest on the same

sum for 3 years at 6% per annum.

o Watch Video Solution

9. A certain sum of money amounts to Rs

23,400 in 3 years at 10% per annum simple


https://dl.doubtnut.com/l/_PWaedrUEwUsG
https://dl.doubtnut.com/l/_GB7qdOcisW7n
https://dl.doubtnut.com/l/_53c2Ftkf1rg5

interest. Find the amount of the same sum in

2 years and at 10% p.a. compound interest.

° Watch Video Solution

10. Mohit borrowed a certain sum at 5% per
annum compound interest and cleared this
loan by paying Rs 12,600 at the end of the first
year and Rs 17,640 at the end of the second

year. Find the sum borrowed.

° Watch Video Solution



https://dl.doubtnut.com/l/_53c2Ftkf1rg5
https://dl.doubtnut.com/l/_ptjMVSbZ0ZOb
https://dl.doubtnut.com/l/_dfAr8CaGrIu4

11. The difference between simple interest and
compound interest on a certain sum is Rs
54.40 for 2 years at 8 percent per annum. Find

the sum.

° Watch Video Solution

12. A sum of money, invested at compound
interest, amounts to Rs 19,360 in 2 years and
to Rs 23,42560 in 4 years. Find the rate

percent and the original sum of money.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_dfAr8CaGrIu4
https://dl.doubtnut.com/l/_wZ4FP13w0liV

13. A sum of money lent out at C.l. at a certain
rate per annum becomes three times of itself
in 8 years. Find in how many years will the
money become twenty-seven times of itself at.

the same rate of interest p.a.

° Watch Video Solution

14. On what sum of money will compound

interest (payable annually) for 2 years be the


https://dl.doubtnut.com/l/_wZ4FP13w0liV
https://dl.doubtnut.com/l/_WTQMhoOdWpL0
https://dl.doubtnut.com/l/_H1b814Zkb0XL

same as simple interest on Rs 9,430 for 10

years, both at the rate of 5 percent per annum

?

° Watch Video Solution

15. Kamal and Anand cach lent the same sum
of money for 2 years at 5% at simple interest
and compound interest respectively. Anand
received Rs 15 more than Kamal. Find the
amount of money lent by each and the

interest received.

| e |


https://dl.doubtnut.com/l/_H1b814Zkb0XL
https://dl.doubtnut.com/l/_c7zwkf76os76

& watch Video Solution I

16. Simple interest on a sum of money for 2
years at 4% is Rs 450. Find compound interest
on the same sum and at the same rate for 2

years.

° Watch Video Solution

17. Simple interest on a certain sum of money
for 4 years at 4% per annum exceeds the

compound interest on the same sum for 3


https://dl.doubtnut.com/l/_c7zwkf76os76
https://dl.doubtnut.com/l/_CypshsLtuTXL
https://dl.doubtnut.com/l/_vIB7MNdkiZuN

years at 5 percent per annum by Rs 228. Find

the sum.

° Watch Video Solution

18. Compound interest on a certain sum of
money at 5% per annum for two years is Rs
246. Calculate simple interest on the same

sum for 3 years at 6% per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_vIB7MNdkiZuN
https://dl.doubtnut.com/l/_XoOhwVL3nZAU

19. A certain sum of money amounts to Rs
23,400 in 3 years at 10% per annum simple
interest. Find the amount of the same sum in

2 years and at 10% p.a. compound interest.

o Watch Video Solution

20. Mohit borrowed a certain sum at 5% per
annum compound interest and cleared this

loan by paying Rs 12,600 at the end of the first


https://dl.doubtnut.com/l/_aetRLnl7B1H5
https://dl.doubtnut.com/l/_M5wCA4cz8yhd

year and Rs 17,640 at the end of the second

year. Find the sum borrowed.

° Watch Video Solution

1. If the interest is compounded half-yearly,
calculate the amount when principal is Rs
7,400, the rate of interest is 5% per annum

and the duration is one year.

o Watch Video Solution



https://dl.doubtnut.com/l/_M5wCA4cz8yhd
https://dl.doubtnut.com/l/_uLH4TOyDTuEv

2. Find the difference between the compound
interest compounded yearly and half yearly on

Rs 10,000 for 18 months at 10% per annum.

o Watch Video Solution

3. A man borrowed 16,000 for 3 years under
the following terms:

20% simple interest for the first 2 years.

20% C.. for the remaining one year on the

amount due after 2 years, the interest being


https://dl.doubtnut.com/l/_uLH4TOyDTuEv
https://dl.doubtnut.com/l/_3sIHv4SUxQmG
https://dl.doubtnut.com/l/_Sjjr4qIBlM9m

compounded half-yearly.
Find the total amount to be paid at the end of

three years.

o Watch Video Solution

4. What sum of money will amount to Rs 27,783
in one and a half years at 10% per annum

compounded half yearly ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Sjjr4qIBlM9m
https://dl.doubtnut.com/l/_I7GQqZt3aVui

5. Ashok invests a certain sum of money at
20% per annum, compounded yearly. Geeta
invests an equal amount of money at the same
rate of interest per annum compounded half-
yearly. If Geeta gets Rs 33 more than Ashok in

18 months, calculate the money invested.

o Watch Video Solution

6. At what rate of interrest per annum will a

sum of Rs 62,500 earn a compound interest of


https://dl.doubtnut.com/l/_7HssNMoQ0zu7
https://dl.doubtnut.com/l/_UZFaRssf2Fig

Rs 5,100 in one year ? The interest is to be

compounded half-yearly.

° Watch Video Solution

7. In what time will Rs 1,500 yield Rs 496,50 as
compound interest at 20% per year

compounded half-yearly ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UZFaRssf2Fig
https://dl.doubtnut.com/l/_vEh0h02p7TYT

8. Calcualte the Cl. on Rs 3,500 at 6% per
annum for 3 vyears, the interest being
compounded half-yearly.

Do not use mathematical tables. Use the
necessary information from the following:
(1-06)> =1-19106, (1-03)°> =1 - 092727

(1-06)° =1-418519, (1-03)° = 1. 194052

o Watch Video Solution



https://dl.doubtnut.com/l/_tdBKgmWAcPaa

9. Find the difference between compound
interest and simple interest on Rs 12,000 and

in 15 years at 10% p.a. compounded yearly.

o Watch Video Solution

10. Find the difference between compound
interest and simple interest on Rs 12,000 and

1
in 15 years at 10% compounded half-yealry.

o Watch Video Solution



https://dl.doubtnut.com/l/_WPETUgesr1nU
https://dl.doubtnut.com/l/_XFX7yujw3TVO
https://dl.doubtnut.com/l/_dsYkooSremtY

1. If the interest is compounded half-yearly,
calculate the amount when principal is Rs
7,400, the rate of interest is 5% per annum

and the duration is one year.

o Watch Video Solution

12. Find the difference between the compound
interest compounded yearly and half yearly on

Rs 10,000 for 18 months at 10% per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_dsYkooSremtY
https://dl.doubtnut.com/l/_Ox0z9yd9Ob3M

13. A man borrowed 16,000 for 3 years under
the following terms:

20% simple interest for the first 2 years.

20% C.. for the remaining one year on the
amount due after 2 years, the interest being
compounded half-yearly.

Find the total amount to be paid at the end of

three years.

o Watch Video Solution



https://dl.doubtnut.com/l/_lmkRpAZAIsZe

14. What sum of money will amount to Rs
27,783 in one and a half years at 10% per

annum compounded half yearly ?

o Watch Video Solution

15. Ashok invests a certain sum of money at
20% per annum, compounded yearly. Geeta
invests an equal amount of money at the same

rate of interest per annum compounded half-


https://dl.doubtnut.com/l/_LWePKLgnXNNx
https://dl.doubtnut.com/l/_Hg8dJUkBLma8

yearly. If Geeta gets Rs 33 more than Ashok in

18 months, calculate the money invested.

° Watch Video Solution

16. At what rate of interrest per annum will a
sum of Rs 62,500 earn a compound interest of
Rs 5,100 in one year ? The interest is to be

compounded half-yearly.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hg8dJUkBLma8
https://dl.doubtnut.com/l/_2aBGk1Y4GEmE

17. In what time will Rs 1,500 yield Rs 496,50 as
compound interest at 20% per year

compounded half-yearly ?

o Watch Video Solution

18. Calcualte the Cl. on Rs 3,500 at 6% per
annum for 3 vyears, the interest being
compounded half-yearly.

Do not use mathematical tables. Use the

necessary information from the following:


https://dl.doubtnut.com/l/_SdsBS9imQN6E
https://dl.doubtnut.com/l/_MWGAVesvvgIx

(1-06)° =1-19106, (1-03)> =1 - 092727

(1-06)° =1-418519, (1-03)° = 1- 194052

° Watch Video Solution

19. Find the difference between compound
interest and simple interest on Rs 12,000 and

in 15 years at 10% p.a. compounded yearly.

° Watch Video Solution



https://dl.doubtnut.com/l/_MWGAVesvvgIx
https://dl.doubtnut.com/l/_wveMfHtkuRhn

20. Find the difference between compound
interest and simple interest on Rs 12,000 and

1
in 15 years at 10% compounded half-yealry.

o Watch Video Solution

1. The cost of a machine is supposed to
depreciate each year by 12% of its value at the

beginning of the year. If the machine is valued


https://dl.doubtnut.com/l/_NxrAedkugbPg
https://dl.doubtnut.com/l/_LvLFbfKAaSdd

at Rs 44,000 at the beginning of 2008, find its

value at the end of 2009

° Watch Video Solution

2. The cost of a machine is supposed to
depreciate each year by 12% of its value at the
beginning of the year. If the machine is valued
at Rs 44,000 at the beginning of 2008, find its

value at the beginning of 2007.

° Watch Video Solution



https://dl.doubtnut.com/l/_LvLFbfKAaSdd
https://dl.doubtnut.com/l/_PmdgxguWQb75
https://dl.doubtnut.com/l/_5Vx6nApSA7q5

3. The value of an article decreased for two
years at the rate of 10% per year and then in
the third year it increased by 10%. Find the
original value of the article, if its value at the

end of 3 years is Rs 40,095

o Watch Video Solution

4. According to a census taken towards the
end of the year 2009, the population of a rural
town was found to be 64,000. The census

authority also found that the population of


https://dl.doubtnut.com/l/_5Vx6nApSA7q5
https://dl.doubtnut.com/l/_UaQWdAt5j6TU

this particular town had a growth of 5% per
annum. In how many years after 2009 did the

population of this town reach 74,088 ?

° Watch Video Solution

5. The population of a town decreased by 12%
during 1998 and then increased by 8% during
1999. Find the population of the town, at the
beginning of 1998, if at the end of 1999 its

population was 2,85,120.

° Watch Video Solution



https://dl.doubtnut.com/l/_UaQWdAt5j6TU
https://dl.doubtnut.com/l/_iw0jTwkq2Elv

6. A sum of money, invested at compound
interest, amounts to Rs 16,500 in 1 year and to
Rs 19,965 in 3 years. Find the rate per cent and

the original sum of money invested.

° Watch Video Solution

7. The difference between C.I. and S.. on Rs
7,500 for two years is Rs 12 at the same rate of

interest per annum. Find the rate of interest.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_iw0jTwkq2Elv
https://dl.doubtnut.com/l/_zVjOt02hx7F5
https://dl.doubtnut.com/l/_9MKaPSeZZnfk

8. A sum of money lent out at C.l. at a certain
rate per annum becomes three times of itself
in 8 years. Find in how many years will the
money become twenty-seven times of itself at

the same rate of interest p.a.

° Watch Video Solution

9. Mr. Sharma borrowed a certain sum of

money at 10% per annum compounded


https://dl.doubtnut.com/l/_9MKaPSeZZnfk
https://dl.doubtnut.com/l/_wNFSsXknTWja
https://dl.doubtnut.com/l/_36tsGgMxIaDf

annually. If by paying Rs 19,360 at the end of
the second year and Rs 31,944 at the end of
the third year he clears the debt, find the sum

borrowed by him.

o Watch Video Solution

10. The difference between compound interest
for a year payable half-yearly and simple
interest on a certain sum of money lent out at
10% for a year is Rs 15. Find the sum of money

lent out.

| e |


https://dl.doubtnut.com/l/_36tsGgMxIaDf
https://dl.doubtnut.com/l/_xEJRfPzOB0ql

& Watch Video Solution I

11. The ages of Pramod and Rohit are 16 years
and 18 years respectively. In what ratio must
they invest money at 5% p.a. compounded
yearly so that both get the same sum on

attaining the age of 25 years ?

° Watch Video Solution

12. The cost of a machine is supposed to :

depreciate each year by 12% of its value at the


https://dl.doubtnut.com/l/_xEJRfPzOB0ql
https://dl.doubtnut.com/l/_tv1TxEwXCTd1
https://dl.doubtnut.com/l/_0duv0UpUvWCY

beginning of the year. If the machine is valued
at Rs 44,000 at the beginning of 2008, find its
value:

at the end of 2009

o Watch Video Solution

13. The cost of a machine is supposed to :
depreciate each year by 12% of its value at the
beginning of the year. If the machine is valued

at Rs 44,000 at the beginning of 2008, find its


https://dl.doubtnut.com/l/_0duv0UpUvWCY
https://dl.doubtnut.com/l/_9HxPpeN88wFw

value:

at the beginning of 2007.

° Watch Video Solution

14. The value of an article decreased for two
years at the rate of 10% per year and then in
the third year it increased by 10%. Find the
original value of the article, if its value at the

end of 3 years is Rs Rs 40,095

° Watch Video Solution



https://dl.doubtnut.com/l/_9HxPpeN88wFw
https://dl.doubtnut.com/l/_EG0uB4dSjqsQ
https://dl.doubtnut.com/l/_ReMHMdWcYxyt

15. According to a census taken towards the
end of the year 2009, the population of a rural
town was found to be 64,000. The census
uthority also found that the population of this
particular town had a growth of 5% per
annum. In how many years after 2009 did the

population of this town reach 74,088 ?

° Watch Video Solution

16. The population of a town decreased by 12%

during 1998 and then increased by 8% during


https://dl.doubtnut.com/l/_ReMHMdWcYxyt
https://dl.doubtnut.com/l/_bh7SZjkfhwQK

1999. Find the population of the town, at the
beginning of 1998, if at the end of 1999 its

population was 2,85,120.

° Watch Video Solution

17. A sum of money, invested at compound
interest, amounts to Rs 16,500 in 1 year and to
Rs 19,965 in 3 years. Find the rate per cent and

the original sum of money invested.

° Watch Video Solution



https://dl.doubtnut.com/l/_bh7SZjkfhwQK
https://dl.doubtnut.com/l/_dC7UwiCD3JK0
https://dl.doubtnut.com/l/_0FEvwQBfRjxw

18. The difference between C.I. and S.. on Rs
7,500 for two years is Rs 12 at the same rate of

interest per annum. Find the rate of interest.

° Watch Video Solution

19. A sum of money lent out at C.l. at a certain
rate per annum becomes three times of itself
in 8 years. Find in how many years will the
money become twenty-seven times of itself at

the same rate of interest p.a.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_0FEvwQBfRjxw
https://dl.doubtnut.com/l/_QsrmjdoLfgPy

20. Mr. Sharma borrowed a certain sum of
money at 10% per annum compounded
annually. If by paying Rs 19,360 at the end of
the second year and Rs 31.944 at the end of
the third year he clears the debt, find the sum

borrowed by him.

° Watch Video Solution



https://dl.doubtnut.com/l/_QsrmjdoLfgPy
https://dl.doubtnut.com/l/_Qw1z5s4zMQPr

21. The difference between compound interest
for a year payable half-yearly and simple
interest on a certain sum of money lent out at
10% for a year is Rs 15. Find the sum of money

lent out.

o Watch Video Solution

22.The ages of Pramod and Rohit are 16 years
and 18 years respectively. In what ratio must

they invest money at 5% p.a. compounded


https://dl.doubtnut.com/l/_os0IvN56o2bB
https://dl.doubtnut.com/l/_wub6agq40ZRY

yearly so that both get the same sum on

attaining the age of 25 years ?

° Watch Video Solution

1. Simple interest on a sum of money for 2

years at 4% growth rate is Rs 450. Find
compound interest on the same sum and at
the same rate for 1 year, if the interest is

reckoned half yearly.



https://dl.doubtnut.com/l/_wub6agq40ZRY
https://dl.doubtnut.com/l/_bdRxAt1KRQTq

Watch Video Solution

2. Find the compound interest to the nearest
1
rupee on Rs 10,800 for 25 years at 10% per

annum.

o Watch Video Solution

3. The value of a machine, purchased two years
ago, depreciates at the annual rate of 10%. If
its present value is Rs 97,200, find it value after

2 years


https://dl.doubtnut.com/l/_bdRxAt1KRQTq
https://dl.doubtnut.com/l/_H3viGKwBqRdZ
https://dl.doubtnut.com/l/_6d1cTsvkc69j

° Watch Video Solution

4. The value of a machine, purchased two years
ago, depreciates at the annual rate of 10%. If

its present value is Rs 97,200, find its value

when it was purchased.

o Watch Video Solution

5. Anuj and Rajesh each lent the same sum of

money for 2 years at 8% simple interest and


https://dl.doubtnut.com/l/_6d1cTsvkc69j
https://dl.doubtnut.com/l/_XamJfIaw3Q5H
https://dl.doubtnut.com/l/_t0AxYFSS6a3i

compound interest respectively. Rajesh
received Rs 64 more than Anuj. Find the

money lent by each and interest received.

° Watch Video Solution

6. Calculate the sum of money on which the
compound interest (payable annually) for 2
years be four times the simple interest on Rs
4,715 for 5 years, both at the rate of 5 per cent

per annum.

° Watch Video Solution



https://dl.doubtnut.com/l/_t0AxYFSS6a3i
https://dl.doubtnut.com/l/_TxYNvAAdXO2u

7. A sum of money was invested for 3 years,
interest being compounded annually. The
rates for successive years were 10%, 15% and
18% respectively. If the compound interest for
the second year amounted to 4,950, find the

sum invested.

° Watch Video Solution

8. A sum of money is invested at 10% per

annum compounded half-yearly. If the


https://dl.doubtnut.com/l/_TxYNvAAdXO2u
https://dl.doubtnut.com/l/_N8Gk9nQCSvpo
https://dl.doubtnut.com/l/_S0AmFX8h00it

difference of amounts at the end of 6 months
and 12 months is Rs 189, find the sum of

money invested,

o Watch Video Solution

9. Rohit borrows Rs 86,000 from Arun for two
years at 5% per annum simple interest. He
immediately lends out this money to Akshay at
5% compound interest compounded annually
for the same period. Calculate Rohit's profit in

the transaction at the end of two years.

| |


https://dl.doubtnut.com/l/_S0AmFX8h00it
https://dl.doubtnut.com/l/_vNZ2XxNfOhHs

& Watch Video Solution I

10. The simple interest on a certain sum of
money for 3 years at 5% per annum is Rs 1,200.
Find the amount due and the compound
interest on this sum of money at the same
rate and after 2 years, interest is reckoned

annually.

° Watch Video Solution



https://dl.doubtnut.com/l/_vNZ2XxNfOhHs
https://dl.doubtnut.com/l/_mGvjlxw8FK0e

11. Nikita invests Rs 6,000 for two years at a
certain rate of interest compounded annually.
At the end of first year it amounts to Rs 6,720.

Calculate the rate percent (i.e. rate of growth)

o Watch Video Solution

12. Nikita invests Rs 6,000 for two years at a
certain rate of interest compounded annually.

At the end of first year it amounts to Rs 6,720.


https://dl.doubtnut.com/l/_42ePBlMOLML0
https://dl.doubtnut.com/l/_Py5rTDoIWMy1

Calculate the amount at the end of the second

year.

o Watch Video Solution

13. Simple interest on a sum of money for 2
years at 4% growth rate is Rs 450. Find
compound interest on the same sum and at
the same rate for 1 year, if the interest is

reckoned half yearly.

o Watch Video Solution



https://dl.doubtnut.com/l/_Py5rTDoIWMy1
https://dl.doubtnut.com/l/_DWy1TIFYT6vz
https://dl.doubtnut.com/l/_DO9PyYpXEvM6

14. Find the compound interest to the nearest
1
rupee on Rs 10,800 for 25 years at 10% per

annum.

o Watch Video Solution

15. The value of a machine, purchased two
years ago, depreciates at the annual rate of
10%. If its present value is Rs 97,200, find it

value after 2 years

o Watch Video Solution



https://dl.doubtnut.com/l/_DO9PyYpXEvM6
https://dl.doubtnut.com/l/_6qWIlVJ5h78A

16. The value of a machine, purchased two
years ago, depreciates at the annual rate of
10%. If its present value is Rs 97,200, find :

its value when it was purchased.

o Watch Video Solution

17. Anuj and Rajesh each lent the same sum of
money for 2 years at 8% simple interest and

compound interest respectively. Rajesh


https://dl.doubtnut.com/l/_aOJHAACyIKGo
https://dl.doubtnut.com/l/_1uSUec8ej5ec

received Rs 64 more than Anuj. Find the

money lent by each and interest received.

o Watch Video Solution

18. Calculate the sum of money on which the
compound interest (payable annually) for 2
years be four times the simple interest on Rs
4,715 for 5 years, both at the rate of 5 per cent

per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_1uSUec8ej5ec
https://dl.doubtnut.com/l/_efzUdeZAot0w
https://dl.doubtnut.com/l/_CdJ0zMiI3lql

19. A sum of money was invested for 3 years,
interest being compounded annually. The
rates for successive years were 10%, 15% and
18% respectively. If the compound interest for
the second year amounted to 4,950, find the

sum invested.

o Watch Video Solution

20. A sum of money is invested at 10% per
annum compounded half-yearly. If the

difference of amounts at the end of 6 months


https://dl.doubtnut.com/l/_CdJ0zMiI3lql
https://dl.doubtnut.com/l/_M0RduhedEpwI

and 12 months is Rs 189, find the sum of

money invested,

° Watch Video Solution

21. Rohit borrows Rs 86,000 from Arun for two
years at 5% per annum simple interest. He
immediately lends out this money to Akshay at
5% compound interest compounded annually
for the same period. Calculate Rohit's profit in

the transaction at the end of two years.

° Watch Video Solution



https://dl.doubtnut.com/l/_M0RduhedEpwI
https://dl.doubtnut.com/l/_diX55WKYcgzU

22. The simple interest on a certain sum of
money for 3 years at 5% per annum is Rs 1,200.
Find the amount due and the compound
interest on this sum of money at the same
rate and after 2 years, interest is reckoned

annually.

o Watch Video Solution

23. Nikita invests Rs 6,000 for two years at a

certain rate of interest compounded annually.


https://dl.doubtnut.com/l/_diX55WKYcgzU
https://dl.doubtnut.com/l/_kNvJhOjAeOrn
https://dl.doubtnut.com/l/_VRdFtRBNQXyP

At the end of first year it amounts to Rs 6.720.
Calculate :

the rate percent (i.e. rate of growth)

° Watch Video Solution

24. Nikita invests Rs 6,000 for two years at a
certain rate of interest compounded annually.
At the end of first year it amounts to Rs 6.720.
Calculate :

the amount at the end of the second year.

° Watch Video Solution



https://dl.doubtnut.com/l/_VRdFtRBNQXyP
https://dl.doubtnut.com/l/_T9IxZikjJUFF



https://dl.doubtnut.com/l/_T9IxZikjJUFF

